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Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : PUBLIC ADMINISTRATION
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
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Change Theme : No
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Group 1

Group Number : 1

Group Id : 51714479
Group Maximum Duration : 0
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Edit Attended Group? : No
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Group Marks : 300

Is this Group for Examiner? : No
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Show Progress Bar? : No

Paper 1



Section Id : 517144157
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144484
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714411872 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A classroom consists of students from diverse cultural backgrounds. How should
a teacher address cultural differences to create an inclusive learning environment?
Select all that apply.
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Options :

Ignore cultural differences to maintain uniformity
| x WEEEDEDH el JoysE Dorei TS

Incorporate culturally relevant examples and materials.
- %‘Joéﬂ‘;é%é D008 SrriTtsen, Hnsden SrothHdoed.

Design assessments that favor a specific cultural group.
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Assign group projects exclusively within the same cultural group.
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Question Number : 2 Question Id : 51714411873 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



You have a student who consistently struggles with written assignments but excels
in verbal discussions. How can you support this student's learning needs? Select
the best options.
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Options :

Provide only written assignments to improve their skills.
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Allow them to demonstrate understanding through verbal presentations.
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Discourage verbal participation to encourage writing practice.
Sargrorr S&line) DBEPHB o8 et @PE)eromed.
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Assign extra written assignments to enhance their skills.
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Question Number : 3 Question Id : 51714411874 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary advantage of online teaching methods?
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Options :
Reduced flexibility in learning schedules.

L% @e;as?ﬁav Eldfmgé_t}@’s éﬁo{‘ﬂfé

Limited access to resources beyond the classroom.
558 K6 IenHe HHHeH HODLS (HIFEW

Increased accessibility for remote learners.
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Decreased need for active student engagement.
Boh&E Doy FEeEd $AY eddso
4. % @ 0 9]



Question Number : 4 Question Id : 51714411875 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

You're a college student interested in learning new skills beyond your curriculum.
Which platform would be most suitable for you to access a wide range of courses?
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Options :

Traditional Classroom teaching
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Traditional textbooks
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Question Number : 5 Question Id : 51714411876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main principle behind a choice-based education system?
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Options :
A single standardized curriculum for all students
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Limited options for students to choose from
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Allowing students to select courses based on their interests and goals
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Assigning subjects randomly to students
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Question Number : 6 Question Id : 51714411877 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
"Objective" in research means:
"H68%5:%5 " &° DapEardsin e
Options :

Researchers can include personal biases in their findings.
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Research findings are based solely on intuition.
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Research aims to uncover facts without being influenced by personal feelings
or opinions.
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Researchers are free to manipulate data to support their beliefs.
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Question Number : 7 Question Id : 51714411878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the post-positivist approach emphasize in terms of research
methodology?
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Options :



Avoiding any form of data collection
Serod HEGeD SIANOINVERA VA

Using only qualitative research methods
rbcavééé 508859 a’;geﬁmﬁ =08 Ter vilatetnaloy

Incorporating multiple methods and perspectives to enhance understanding
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Strictly adhering to predetermined hypotheses without adaptation
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Question Number : 8 Question Id : 51714411879 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What should the introduction of an academic article or thesis accomplish?
2.8 Doy argio el H880 8 o500 PR HBBAIRED A& FeBowed

Options :

Present all the research findings in detail
©f) HOED Bt DBBore ayd.
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Provide background information and context for the study
5 v @5oHR8 FHeEm, HostBn S0ar.

Include personal opinions and biases

- 5588 graren, HEararen Seodawed.

Include a summary of the entire article or thesis
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Question Number : 9 Question Id : 51714411880 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The purpose of the "Introduction” section in a research article is to:
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Options :

Present the results and findings of the study
©iiidhiy Pderoi, %) 80 o0

Provide an overview of the research methods and procedures
56855 étéé}t:, (18a%he éoﬂgb’)éﬁ Eioonairg®

Discuss potential limitations of the study

- 5500y DHogry 8ol Stowd

Introduce the research topic, its significance, and research objectives
4 5885 wodo, el [@rsingss, ool egpen dward.

Question Number : 10 Question Id : 51714411881 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the term "research methodology" refer to?
568%:5% ;'}%53 e

Options :

The analysis of research results
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The type of paper used for writing research reports
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The overall approach and techniques used in the research
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The process of data collection
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Sub-Section Number : 2
Sub-Section Id : 517144485



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411882 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
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It was early morning, and the rays of the rising sun had scarcely yet caught the roofs of
the city of Perugia, when along the winding road which led across the plain a man and a
boy walked with steady, purpose like steps towards the town which crowned the hill in
front.

The man was poorly dressed in the common rough clothes of an Umbrian peasant. Hard
work and poverty had bent his shoulders and drawn stern lines upon his face, but there
was a dignity about him which marked him as something above the common working
man.

The little boy who trotted barefoot along by the side of his father had a sweet, serious
little face, but he looked tired and hungry, and scarcely fit for such a long rough walk.
They had started from their home at Castello delle Pieve very early that morning, and the
piece of black bread which had served them for breakfast had been but small. Away in
front stretched that long, white, never-ending road; and the little dusty feet that pattered
so bravely along had to take hurried runs now and again to keep up with the long strides
of the man, while the wistful eyes, which were fixed on that distant town, seemed to
wonder if they would really ever reach their journey end.
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Sub questions

Question Number : 11 Question Id : 51714411883 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



One early morning, two people walked towards the town with a
pace.
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Options :

faltering
o SEathér

slow
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hesitant
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stable

wSore
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Question Number : 12 Question Id : 51714411884 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The older man in rough clothes had a demeanour about him.
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Options :

friendly
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decent
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offensive
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Question Number : 13 Question Id : 51714411885 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

The older man was a by occupation.
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Options :

farmer
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teacher
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messenger
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baker
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Question Number : 14 Question Id : 51714411886 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘wistful eyes’ means
ReEhd B8’ ©3 Hoe08 ©B0

Options :

thoughtless
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thoughtful
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Question Number : 15 Question Id : 51714411887 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

The phrase- ‘the town which crowned the hill in front” means, the town looks like a
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Options :
piece of jewel
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unreachable
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Sub-Section Number : 3
Sub-Section Id : 517144486
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 51714411888 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being during communication with others can build a sense of
trust and respect.
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Question Number : 17 Question Id : 51714411889 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

communication is the excess meanings of utterances or
messages received by students without the teacher's awareness.
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Options :

Controlled
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Question Number : 18 Question Id : 51714411890 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.
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practices
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Question Number : 19 Question Id : 51714411891 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
barriers are the most obvious barriers in communication that
can be easily resolved.
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Options :

psychological
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emotional
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Question Number : 20 Question Id : 51714411892 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Music , television, and films are the forms of media that play an
important role in shaping cultural norms and values.
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Entertainment

information
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Question Number : 21 Question Id : 51714411893 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
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Options :
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8840
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Question Number : 22 Question Id : 51714411894 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

LMZ, NYO, XPQ, RSW,
Options :
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Question Number : 23 Question Id : 51714411895 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word CABINET =70 and BEAUTY = 60 then
PRODUCTION=
QBN §& 27165 CABINET = 70 <5805 BEAUTY = 60 HC50 eo0nd
PRODUCTION=__

Options :
g0

1. ®

5 100

s % 110

120

Question Number : 24 Question Id : 51714411896 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Shashi and Sudha enter into a partnership with equal investments. is the
share of Shashi in the annual profit of Rs. 44,000.
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Options :
22,000
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19,000

Question Number : 25 Question Id : 51714411897 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A profit of 12% is made by selling an article for Rs. 50.40. The cost price of the
articleis
2,8 03000630 8°.50.408 9.332¢80 TP ET® 12% €750 o500, €3 o3to)
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Options :
46
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56.45

;% 44.35
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Question Number : 26 Question Id : 51714411898 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:
Some true are not false.
Some false are not real

BSELATN Sh:
5 daren )00 5.
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Conclusions
l. Some real are true.
I. Some real are definitely false.
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, w llfollows

Both | & Il follows.
3. %

Neither | nor Il follows
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Question Number : 27 Question Id : 51714411899 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class, 72 students drink only tea, 50% of the students drink coffee, 25% of
the students drink both tea and coffee and 5% of the students drink neither tea
nor coffee. What is the total strength of the class?
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Options :

160
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R 180
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L% 120

Question Number : 28 Question Id : 51714411900 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my mother’s sister's only sibling’s father related to me?
S €992 TBO D3 S20EW) S0I3E TE NoDO00 DaNE3?

Options :
Father



Uncle

2. %

; Father-in-law
Grandfather

4, &

Question Number : 29 Question Id : 51714411901 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a necessary step when you present an argument
based on inference before the others according to the Classical Indian School of
Logic?
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STEOTP 2.8 T3 De00)0D0Y I &2 18060 57¢36Y DB 938
&34 5°C07?

Options :

| % Nigamana

. Upamana

5 » Upanaya

Udaharana

Question Number : 30 Question Id : 51714411902 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following expresses Vyapti (relation of invariable
concomitance?

1BoAE3S DO aERR) 355N (AE0HS D0 FS0 T30Sy
DOO0).

Options :



The relation of invariable concomitance between mountain and fire

w2058, ef)§ e DEHAHTR SOOI

The relation of invariable concomitance between mountain and smoke
HE cTERE, SPHEY SHAE DBAHADTA HoOGO

The relation of invariable concomitance between fire and smoke
@) 8§, &FiB0 NG &) 0D0R0

The relation of invariable concomitance between perceiver and the smoke

§ BT oD TGS, a8 s G0B D008 2r0ddersen
4.

Sub-Section Number : 4
Sub-Section Id : 517144487
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)

Question Label : Comprehension






Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

HeDE: (80 QD 5AS QG0 esrdor Q. 31 oé Q. 35 (408
DT TEN (P00,

A company has six branches numbered |, II, lll, IV, V and VI located in six different
places. Each branch utilises the telephone services of six different providers A, B,
C, D, E and F. The number of telephone calls made on 28th September 2008,
between 10.00am to 11.00 am between any two different branches were recorded
and are as given in the graphs below. It was also observed that from each branch
there were at least two outgoing calls through each service provider to every other
branch and there were at least two incoming calls through each service provider
from every other branch.

Calls made through a service provider at any branch can be received through the
same service provider at any other branch.

2.8 502 e 3B DTS |, I, I, IV, V 208050 VI So028& 57
e TN EON GoH. 1083 2P0 A, B, C, D, E D005 F &9® et 230 50
PS80 BOSFS VIO GITTA0NH0EN0H. 28 Dond 20208
&CH0HO 10.00 A0G& 11.00 50 NEE DT DO B0 55 T s
TS BOFS T Hows 6520 TANDE060 HBOM e ONS (TS
RS DO &0EFOD. [N (27075 NO0B (D& Qs T 2.8 HB:0
1SFR G0 T 500 Boi @SFonol sTEen Gar)ohR) ook (Hes
QS TP DOG .5 OO:D (B0 e o° EAN0 Toth ASEON s*Sew
€500 ) 0D B HeD0TID B0,

D) EPONS T 05D ITBH0 T TS OO @8 60 (TS0
TP S0P 200 VBB TS T 0 §EO0TISTN).

Number of outgoing calls
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50 2840,
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< THAE JE I
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Six Locations

Axis Title

mAEE C mD mE

Number of incoming calls

41 42

31
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Sub questions

Question Number : 31 Question Id : 51714411904 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the maximum number of incoming calls from any single branch received
by any other branch through any single service provider
o 28} 2P0 OB @ONT® o) 28] V05N PSCD T 500 o 2SS FTPED
SIS HOQ HowESS YSEDOR S 3 DOeh

Options :

1= 41

43

2.8

45
3.¢¥

52

Question Number : 32 Question Id : 51714411905 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the maximum number of calls made from branch Il to branch V
12700 11l DOA (2708 VE TN PO (105 DOPE DO ?

Options :

127

1. %

141

2. %
3 % 131

104
4. ¥



Question Number : 33 Question Id : 51714411906 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the maximum number of calls made through service provider B, from any
one branch to any other branch

HBER (8750 B 00207, QB 2.8 (27010 0B S0 265 1237008 TS
5O (0o DO DO ?

Options :

w127

2.v 29

36

3. %

4. % 18

Question Number : 34 Question Id : 51714411907 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If branch V| has received the |least number of calls from branches | and I, then
what is the maximum number of calls received by it from the other given
branches

2P0 VI D0G 12700ew | 00050 1l 50 e9ed 350).00 PO
255B0DIL0NB, ¥BS (27000 0B TAE ©otHEd) HoR He
QO o)Oed?
Options :
158

1. *

5 % 162

174
3. ¢

L« 176

Question Number : 35 Question Id : 51714411908 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the minimum number of calls made from branch1 through service
provider C to branches Il Ill or VI

SBR (87B¢0 C w00 1237051 00 I, Il B VI 20D 5 T 0
OO OB DO

Options :
1.v 8

10

2. %

3 % 12

14

4. =

Sub-Section Number : 5
Sub-Section Id : 517144488
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 51714411909 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The process of transferring files from Internet to user computer is called ........
2068)5 ol DGIPNN) EoJghthth pED S8D0he

Options :

Uploading
oDhE&ord

1. ®

Downloading

5680
2.

Terminating
Baéﬂﬁorb

3. %



None of the above

. 259 57
4.

Question Number : 37 Question Id : 51714411910 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which protocol is commonly used for sending email messages?
3 honen sPHORD Ferdmorr GH@rAoD [Ereised ?

Options :

SMTP
1. v

, x HTTP
; & TCP

FTP

4. %

Question Number : 38 Question Id : 51714411911 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Digital Initiatives that focuses on the development of open-source software?
28 BE) P36 ©PHRE® HhrBoD EBeS SEHen?
G [A0H)
Options :

e-PG Pathasala
9-58 Frsze

~ NPTEL
2. %

3@ FOSSEE

None of the above

L 258 5D



Question Number : 39 Question Id : 51714411912 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology includes..............
SErEEes HHBan o FosaEES” Eob aab.

Options :

Online learning

- B8~ eFFi e

Web Based Learning
3D eerdE wgrgien

Learning through the use of EDUSAT
QDD TR egrEsien

All of the above

2
40 ETE

Question Number : 40 Question Id : 51714411913 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

RAM is placed on .......
o B sodHed

Options :
Hard Disk
1. ®

) % USB
3 Mother board

Extension board
4, ®



Question Number : 41 Question Id : 51714411914 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How many Goals are there in the Sustainable Development Goals?
Qesd ©fid @g@@eﬁﬁ o)) OFTgen 670 ?

Options :
L% 27

ray

27

3. %

4 37

Question Number : 42 Question Id : 51714411915 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Name the day that is celebrated as the World Environment Day
(55035 rerdter BHHN DHED 2HHE D 6%

Options :
June 5"

i

1.« &°0 0

June gt
2ams 6

Question Number : 43 Question Id : 51714411916 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following methods can be used to increase the supply of usable,
good quality water?

& BIDS 7088 & éié@ oo SPESD o) ri)cavavéé A H8Ho
oSen?

Options :
Chlorination

ghodad

1. #

Cloud seeding
=5 H&ord
2.9

Metallurgy
53&}@@

3. %

Filterisation

& o
\ w bgpds

Question Number : 44 Question Id : 51714411917 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How many distinct types of actions are defined as part of Disaster
Management?

DD VETes griione o)) DGR Ssee Higen ﬁé&ﬂoémm{;m.

Options :

Question Number : 45 Question Id : 51714411918 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

To which Government the Ministry of Environment and Forests is the nodal
agency?
o) (40a8 ararsdbes, @838 &bﬁ]% SPES E}aﬁhﬁﬂ 535006

Options :
To the State Government
|k TR SeR8

To the Central Government

) ol [ehae8

To United Nations
S0IBE 55

To Union Territories
Srdohidn BbedH

Question Number : 46 Question Id : 51714411919 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is the ancient university?
% (BoB 6% DB DS D DTEgeHED

Options :
Lalitgiri

) Nalanda

Ratnagiri

Udayagiri

Question Number : 47 Question Id : 51714411920 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Ministry of Human Resources Development (MHRD) renamed as....
A5 SNthe @r‘f,}a’%}g ooBE] g PBD 2

Options :

Ministry of Human Development
éﬁé@éﬁé&% 300|BE T

Ministry of Higher Education

- &) Doy HolBK Ty

Ministry of Education

3 ¥ ey $00(BSy Ty

Ministry of Human Capital
30080 sreEi snol@dy g

4. %

Question Number : 48 Question Id : 51714411921 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following learning programmes focuses on the study of ancient
Indian scriptures and spiritual practices?

& BIDD ) egrd seEyEana, @D grBs (ogren, SgSE oStno g
é@%ﬁjﬂé@vm
Options :
Yoga
L adoeis

Architecture
ey Bengd

Pharmacy
ENPA AL DY)

Commerce
aﬂﬁﬁaéa’m

4, %



Question Number : 49 Question Id : 51714411922 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

ElA is stands......
EIA edne
Options :
Environmental Interest Assessment
1. ®
Environmental Impact Assessment
2. ¢
~ Environmental Interaction Assessmen
3.
Environmental Impact Analysis
4, ®

Question Number : 50 Question Id : 51714411923 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Distance education is not
Eﬁj‘?iﬁﬂ}c‘,‘% 5206

Options :

Telemetric teaching
| x BODBE S

Distance study

) % &8 eggabido

Work oriented education

3 ¥ O eaprdE DS

De-schooling
& - 5PorHd

4. =



Paper 11

Section Id : 517144158
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144489
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 51714411924 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The statement that “public administration serves people from cradle to grave yard” relates
to the

“8Dese ared (Paed Scheibod ﬁéﬁﬂéo 5855 2 5@0&" ©D 5 SN B8 Ho20H0D[H
Options :

Scope of public administration
v g0k arome TR D06

Nature of public administration
5w (808 Trol Oygrsiin

Tendency of public administration
@’}ﬁ;é{g}%ﬂ@é &5

None of the above

2058 50D

4. %

Question Number : 52 Question Id : 51714411925 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which dichotomy has crucially contributed to the emergence of discipline of Public
Administration?

Hgheareoae R o8 o) Begeiieisin (dichotomy) H:FanHaH6?
Options :

Politics-Administration

ared -oradairen
1. ¢

Value-Fact
Bmé—dﬁa@ﬂgfﬁn

2. %

Planning-Action
SBOEEe -5

Policy —Execution
Al ﬁovéaaa'm—@a’)}m

Question Number : 53 Question Id : 51714411926 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The word ‘Administration’ is derived from the Latin words ‘ad’ and ‘ministrare’ which
together mean
PP SHrSHand ‘©@BRRHS ©I wol Hiso @S grapdureans ‘ad BB

‘ministrare’ @3 78 HHod éﬂJD&. & 0ot Do &ago
Options :

To serve the people
BsodH HHIcme

To look after the people
Dezoih EQ2EREN sothéy

To care for the people
[Bezerd srfidmr b

All the above

bt
4.4 = <



Question Number : 54 Question Id : 51714411927 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The concept of ‘line and staff' was borrowed from the
‘B0 @0k @;5’ ersd% B Hod @"mémgiﬁn

Options :

Military administration

wDEd red
1. ¢

Business administration
.;,mﬁc'ﬁviﬁ arend

Ecclesiastical (religious) administration
‘oﬁje‘jéog‘g@ oD

None of the above

2R oD

Question Number : 55 Question Id : 51714411928 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): According to Bernard, authority resides in the relationship between a
superior and subordinate and its acceptance by a subordinate.
(23BarSH(A): mm&@ Siseo @fsdo ©3d éécl@ﬂazsvﬁ—@éaﬂﬁzsvﬂ 505 506 HoDoErds

58650 ©@brH508 200 @ohgBomrdd H020009) &otnod.

Reason (R): To Barnard, authority is the character of an order in an organization by virtue
of which it is accepted.
D (R): eamc}g Pseo wfsedo @38 a8 688K ) @oﬁ@écﬂwﬁé@: ©8es0

Codes:
EEEQ
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
| v (A)Bc (R)Botsr $BENS B (R) @b (A) BnE) S8GS DHSes



Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

L% @A B850 Both HBADS 579 (R) ©6 (A) Aoty HOH DHBEs 5ot

(A) is true, but (R) is false
(A) 23l (R) Say

3. %

(A) is false, but (R) is true
(A) 83 (R) 23

4, %

Question Number : 56 Question Id : 51714411929 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Public administration differs from private administration
[Bghdiared (PRt srods® S Dhchos® D60
Options :

in terms of its management structure and process.
L% DEgeIees HoYeasin Hbcin (HEaD DHcHos

In terms of the amount of political and legal constraints on decision making

DErEBERD 608 Tradah SgahHEDS eFodHe Hichosd
2.4 > S

In terms of the emphasis on efficiency

_ ﬁ*ﬂa‘i}ggo @) eRESSDH 58) ko DFchodd

In terms of none of the above

4 % 278 T DicHoS’H DPHoBD

Question Number : 57 Question Id : 51714411930 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which Article of the Constitution is a provision made for reservations in public services
for Scheduled Castes and Scheduled Tribes?

orezesofofR) & eBES (Sse8o nrgen Beren, ey SKe (HHEy &8%red BTN
goSabaron?



Options :

Article 365
| % 365 ©BES
. £3

Article 315

315 sBES
2. % &

Article 335

s v 335 @BES

Article 375
375 @Qétﬁ

Question Number : 58 Question Id : 51714411931 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following formed the basis for the Government of India Act, 19197
% Bod 78S B sgdorr gr8S 20k Séo, 1919 SrerobosSadiod?

Options :

Home Rule Resolution
sy Srd @Uﬂéﬁ‘aﬁ

Montagu-Chelmsford Report

SroBH-35)REE DD6Y
2. ¢

Administrative Reforms Commission
@&éﬁ}@ﬁ5 Barg)R BNAS

Morley-Minto Reform
S8 -0t Hoses

Question Number : 59 Question Id : 51714411932 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



All the processes of governing, the institutions, processes and practices through which
issues of common concern are decided and regulated upon are together known as
o) Ssre (Dghés (H(Edhen, K‘:oé@ s0Badsn é:é}é& Qa0 HBoDD éﬂgdﬁﬁm, Bﬁ)ﬁé;’ﬁ&

080D% arefoBR D zer Henard.

Options :

Government
(238Desz0

1. %

Politics
orexd asen

2. %

Political-economy

3 % Uﬂﬁécﬁjvgé SRcioeen

Governance

. ria’ﬁclzﬁjrj

Question Number : 60 Question Id : 51714411933 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of occurrence in a civil sevant's career
2.8 (Hghak ﬁﬁﬁéﬁ &35553‘1 oo (career) &% 808 ¥ DBJEXY DB

1. Recruitment 2. Selection
aﬁ_-?g o8

3. Promotion 4. On-boarding
;’35526&@ @5—33’5205

Codes:

§EEP}:

Options :

L # 1,2,3and4
) % 1,2, 3and 4

3 1,2, 4and 3



L% 4 3.2and1

Question Number : 61 Question Id : 51714411934 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the latest of theories of public administration?
(58hesy arome T ?OCISDE“E}@'E 26506 HB?

Options :

New Public Service
Somg D88 HOy
1. v

New Public Administration

) % s (230 ared

Classical theory

Holmrah ?choéép
3. %

Comparative Public Administration

L x SoTEE (5D e

Question Number : 62 Question Id : 51714411935 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The Second Minnow Brook Conference was organised by
ﬁg@dﬁ} &55& B ‘;6@“3%“&“& QO=)ED DHHE

Options :

Dwight Waldo
&5 e

1. #

George Frederickson

, o &8 BPEOESS



Rose Mary Ollery
&% Db 486

Peter F Drucker
566 oh5. (K&6

Question Number : 63 Question Id : 51714411936 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a democratic administration these two go together
(Sdeearaigaines Freds® & Bodr D% sotron

Options :

Delegation and Centralisation

| % ohsel B8, So|H%8es

Centralisation and Competition
So|BESe, 8

Leadership and supervision
SO0, g)i%éé_ﬂ&

Authority and Responsibility

@Hse80, W(ﬁééﬁ
4. &
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Which one of the thinker — concept pair is correctly matched?
Bob Drrod 88 - gride Sfleos® 08 SO 28585 ?
Options :

Chester |. Banard- Acceptance theory of authority

L% 396 . 2078 - @S (F8H6E Ko 0fsed Sadelile



Herbert A. Simon — Decision-making theory
TGO o). DS ~ DPourEses Drroso

Mary Parker Follett — Constructive conflict
&5&6&5 greel - Neplzln) S Rpvvtel

3. %

All the above
gga’ae'.:&oﬁm
4, &
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Who discarded the principles of administration as mere proverbs?
growe dohdren Bdwo Fdhde SoBHD & HEHIBEH

Options :

Dwight Waldo
&5 e

Paul Appleby
5 % TS sdSH

Herbert A. Simon
?’.Jﬂtﬁajﬁ o) T
m a_
3. ¢

Chester |. Barnard

4 % SR0 . 2URB
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Who famously said ‘'management is a true science’?
Qe DECHore a8 D ©d @B HBH?

Options :



Socrates
1. % BEAD

Luther Gullick
, % ©rE0 KOS

Lyndal Urwick
Dowrd &85

F. W. Taylor
oe. ey, Beb
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Which one of the following is not promoted by globalisation?
Bobd a8 (008 B (BFE)EroSt?

Options :

MNationalisation
ezodionTeE S dn

Privatisation
LAttty

Liberalisation
589K 5es

Competition
Gicn
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The concept of representative bureaucracy is propounded by
Er80; SE°A JEg grHS (H8arB0NKE

Options :
Woodrow Wilson
- &1 Dend
George Frederickson
, % =5 (BEBE 85
Donald Kingsley
s Bohd
3. ¢ =
Max Weber
n 56y 3wb
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Which one of the following is not a trend in public administration in India now- a-days?
1Bob &SP {3.’}353&‘55&9@?6?5’5 Haord 558 5008 HB?

Options :

Qutsourcing
©3¢5 FOYoh (8D Dden)

1. #

Downsizing
, % &°9 2&Eoh (8foxy)

Privatisation
;% (P5O85

Nationalisation
4 & EBOTESES
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Correct Marks : 2 Wrong Marks : 0

The Need Hierarchy theory is proposed by
oHdore [Edreid (30 Qeposed)) (H8ERH0DK0

Options :
Abraham Maslow

| v SlsFo sk

Frederick Herzberg
(%68 rbab
2. % gl

Rensis Likert
E‘:Rj:,ﬁ ($t=13]
.. 4]

3. %

Douglas Mc.Gregor
g0 S(And

4, #
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Match List- | with List- || by selecting the correct answer code:
$HBGHE B DoHED erdar-| O eder-|l & 2858550

List=1 (Writ) List = Il (Meaning)

eflem—| (BE5) eeder-l (@8im)

(a) Mandamus (i) Writ or order by which a higher court reviews a case

tried in a lower court
SrotiD ‘;'Emgﬁejam B 5’5@ 5840008 B HBH8400D
aéab'j 8¢5 B8 Slaledy

(b) Quo Warranto (i) Writ directing a sobordinate to stop doing something

that the law prohibits
&5 smrsoest ©QH5269 360 ADBODD HNATTR) DDHICHERE

=085 =0T beS

(c) Prohibition (iif) Literally means by what warrant

v A1) o) [EPSHHES @l ®go

(d) Certiorari (iv) Writ issued by a superior court commanding the

performance of a specified official act or duty
lafeindels 2¥ BHDS 0088 Sgs SN, DB 50 TaHFHd
8 et8od 885
Codes:
85&y:
Options :
- (@) - (i) (b)-(iv) (c)-(i) (d)-(iii)

L x @=(i) (0)-@1) (c)-(i) (d)-(v)

(@- (@) (B)-(v) (c)-(ii) (d)- (i)

3. %

4 (@)= (V) (b)-(iii) (c)- (i) (d)-(i)
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Match List — | with List — |I. Select the correct answer from the codes given below:
ERHE%0 $BGELD BErgrard) o) erder-] O erder-ll 8 28555,

List — I (Institution) List — Il (Location)
m&@n-l%@@ %) erda-l(HKE5D D)
(a) Lal Bahadur Shastri National Academy of Administration (i) Hyderabad
o a8 TR IAKS @528 6 wBRNRDS Srtiorerth
(b) National Police Academy (i) New Delhi
arB0DH D5 e Sy &)
(c) Indian Audit and Accounts Service School (iii) Shimla
206050 6l @of @8 oty ren Bt
(d) Indian Institute of Public Administration (iv) Mussoorie
206008 al)Bers of H05 ©&IDAS Sw5B
Codes:
8%):
Options :
(a)-i, (b)-ii, (c)-iii, (d)-iv
1. %
, @) -iv. (b)-i. (c)-iil, (d)-ii
- (a)-ii, (b)-ii, (c)-, (d)-iv
4% (@a)-iv, (b)-iii, (c)-ii, (d)-i

Question Number : 73 Question Id : 51714411946 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in their chronological order by choosing the correct code:
$BGEHD B QoHE 8oB B JBID sreERudns® HEBIHHD.

(i) Paul H. Appleby Report (i) Gopalaswamy Ayyangar Report
arS e, e JS6Y fiare) ~esly eaigored AR AL

(iii) N.N. Vohra Report (iv) Raja J. Chelliah Report
aHS.aHS. Soe VDB oo B. Doy D6

Codes:

8%&y:

Options :



s (D, (00, (i), (iv)

5 s (), (), (i), (iv)
5w (i) (1), (iv), (iii)

4 s (O (0. (1), (i)
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VWhich one of the following has been a trend in the Union-State relations in India?
806 B ers8dsost éo@ﬁ—m@ Homogredtd &858 H6?

Options :

Union Government is becoming more powerful vis-a-vis the State Governments

ooy {éﬁa@cﬁmgﬁ 8350, S0 GHrEdcHS (Hanedto FBoso wH&HHH
1. ¢

State Governments are becoming more powerful vis-a-is the Union Government

5 % 0o Ha {}’.’Ja'be‘isoéﬁ ) o) o°g (Bghaen E8odo @HHGD

Financial independence of the States is increasing
Dﬁ@;&} @gé 'csongiﬁtzj 2IHEGE

None of the above

258 57
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India is a
A TAL T R

Options :



Federation
| w Ssurgg TPexEn

Unitary State
, % % Bold oeexEn

Confederation

Union of States
Ghordcha e 'f;é%
[+
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Which one of the following is a Post-modern theory of public administration?
808 8% eHO8EY (Post-modern) Dby arerme ?{Jﬂgoe‘_ﬁo b?

Options :
Classical theory
STel[Sinilovy ?bmgoéo

Meoclassical theory
Da) Dolgardh 53{:550660

Discourse theory

s &éﬁﬁﬁ\] ?oczgoi‘éo

Behaviouralism
@88 a8 veroso

Question Number : 77 Question Id : 51714411950 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not true about the Public Interest Litigation (PIL)?
806 TBS° (Her (HBmesd aegess0 (PIL) #0803 ) s3)7?

Options :

it was introduced in India by Justice P N Bhagavathi
B e2RD D.aS. DS BT DR

any citizen can file it if he or she feels that public interest is being harmed
, x BerBEremS 5 athrhSHBEA grHods o FHBT B0 Peo JahBSy)

it can be filed to prevent misuse of government’s power
BN (HgHS; ©HBE HBREPTR) eHEelE Pen Do)
3. %

it can be filed to prevent harm to private interest

4 o OO (@aen (HArard8 280 53 Jardns Penidchds),
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The coordinating agency of the Central Government in personnel matters is
Elelln {;’.ﬁai)é&o@ﬁ Dapob aror dgpsfore Hiiabo Jo dud) 2B

Options :

The Ministry of Personnel, Public Grievances and Pensions
nepod sgHsifoeen, (e Bapen K083 2R ano|BeE T

The Ministry of Home Affairs
)5 S0o(By 3ogr

UPSC
SHPAHS S S EWKS

Cabinet Secretariat
535035 EDBBDE

4, %
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Correct Marks : 2 Wrong Marks : 0

Which one of the following is the name used by the Constitution to denote the highest tier
of the government in India?
eptstndod® e9eingid)es 5(;0:0 DgDheso FATe I T°E%0N0 oer f)ﬁ“@p&?

Options :

Union

L CHEcH

Federation
SENVLVS

Centre
Bolo

All the above
Eahey

4. %
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The existence of the Legislative Council in a state largely depends on the wishes of the
.8 DD@D@‘S@ FTHH006D 608 B0 wprdnthdos?

Options :
People of the State
o
L% O°gy (daen

High Court of the State
ooy 2B
e [#]

Governor of the State
Uﬂ@ ﬁeﬁiﬂ&t’i}

Legislative Assembly of the State

| O TS
4. ¥
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Which one of the following is not true about Gram Sabha?
808 B&° ekl HBod DY Sa3)?

Options :
It is the general assembly of all the voters of a village

L% 58 e Hoorahd Irgedes 34

It is the executive committee of the Village Panchayat
5 o BB ([P Howrah JASTAS Bhé

People of the village who have attained the age of 18 years are its members
18 Hod&oren Dodd (e (Deseotsdr &SP gigen

3. %

It is the lowest rung of the Panchayati Raj

28 HomechH® oo 35598 Ging) 808 @08
4. % s -
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Which one of the following is not true about the Constitution 73rd (Amendment) Act?
8ob BS° orezgoll 738 (388es) S0 DAcHos OB sa?

Options :
It relates to urban local bodies

v =6 s ﬁ;s’ag 2ghag08 Howoboddd
1. ¢ =

It relates to rural local bodies only
, % 30 (e&oes %;K}é S5l H020H0DHH

It was passed in the year 1992

s x O 19926° eBrBomed



It provides for an organically linked three tier system
38 @oRBorr HENY HoBoFHN nrtote B QO%)ED 3208
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The District treasury functions under the control of the
Ber (B0 0D shHdod® HDTH0H?

Options :
State Government

. G“Q @’Jz‘;be‘%o

District Collector
Bep éﬁgtﬁa

District Treasury Officer
Bep (J230 b0

Chief Secretary
Swgy 5558

Question Number : 84 Question Id : 51714411957 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The principal function of Directorates in the State Government is
oo (3h&0E°0) gogome e D

Options :

Policy implementation

L v AP essoen

Rendering auxiliary services
. e:0500E DodoSto



Policy formulation

Qe trHBend
3. % =

Promotion of inter-agency coordination

% D EU&EYOQ@ Sotis DEHSATTR)) DOEFOBOSE
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Correct Marks : 2 Wrong Marks : 0
Which Article of the Constitution of India empowers the Governor to nominate members of

Anglo-Indian community to the State Legislative Assembly?
Toezs0l0S ) & @85S KHGH oo FoHEDLPE" eof moBchHSeH o E"Cjééo T

iy -‘?
©B5°TRY) Bihoh’
Options :

Article 239
239 @Qétﬁ_

Article 267

367 =BEsS
2. & &

Article 333
333 ©bES
3. -

Article 403
403 e3B8S
4, ® &
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The letter 'R’ in MGNREGA stands for
MGNREGA 55506%0 ‘R’ ef80 829 $rdipod?

Options :

Rural
L ErES((rrines)



Rain-fed
» % O &(H0egrds)

Rurban
550
3, % D

None of the above
2B 52D
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A settlement in transition from rural to urban type in India is officially termed by 73™
Constitution Amendment Act as

eanes 5% HHod H&es K58 Brarodo Bothdhl) Vard (Frosrd) 735 oeesgoll $88es
&0 DY 08050 ?
Options :

Transitional Panchayat
HBHES Howrcha

Nagar Panchayat

5 % HDRG Howeche

Town Panchayat
o Hoarche

Both ‘B’ and ‘'C’
snBdin Boto
4, &
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Which one of the following is true?
8ob B8 6 2a))?

Options :

The term government is wider than governance
BB hon ERRslnte 183070 Ko& &5’@5 ®@do B0A &ob

Al

The term governance is wider than government
5258):0) &S Hord8 HDB)ehoén go8 D) @iﬁﬁjo 608

Both the terms mean the same
&2 Bot Hoeen 2.8 @go =133} ST7)00

The term government is of relatively more recent origin than governance
KO8 hotn @ Hso K0y Bo& 38 @SJ@S]DEJDE}

Question Number : 89 Question Id : 51714411962 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is true about the District Rural Development Agency(DRDA)?
Bep [raerdRQ $0g (DRDA) 980D b 2uil)?

Options :

1.v

It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the Central and state Governments
=6 Sol, ol (gherse @&W@éﬁ}% HoBain 28680 NEmoTr seEgBare o

ﬁﬁéé)éﬂ‘&@é] DerHDoBE

2, %

It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the Central Government only
56 800 Sol (8380e5g @%W@&’)&% HBcsn DHBdEo V8o seiyEsre e,

ééﬁﬂéﬂ&é} Deeh Dodd



3. %

It is the bedrock for implementation and supervision of rural development and anti-poverty
programmes of the State Government only
b 8500 Uﬂé (Bghesg {{Pé}ﬁﬁ@é@g SHbctn DS6E Kjti)&fjmﬂ sed|Esne eanen

6’3553553@& b Hodb.

The administrative head of DRDA is the Chief Secretary
& T, ot i .
L Bere E‘iﬁmaﬂﬂé]a’)ejg 08 POTRNS H0gy svééfﬁﬁgd-
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The Sixth Schedule of the Constitution of India deals with the administration of the tribal
areas in
grie8 Drassols) ©8® ueimgen & Dﬁé@fm@g@ ABa:d  |arosre aredd Honofoddh

Options :

The State of Assam only
@0 T°FHo Soe(&ad

1. ®

The State of Meghalaya only

- SoFrodH o530 v

In the States of Assama, Meghalaya, Tripura and Mizoram

3. ¥ ©TM0, DFroch, (B8 Hdasn bEdoro Uﬁ@;m

In the State of Tripura Only
4% B8 Trho So(e5sh
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Correct Marks : 2 Wrong Marks : 0
The chief exponent of Development Administration is
(2518 aredth Snerghd Hm|sss

Options :



Edward Weidner
5B Db
v D, oM

Goswami

LI

La Palombora
er Heoaoe

Herbert Simon
?’.joeﬁajE At oa)
4. % =
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Correct Marks : 2 Wrong Marks : 0

Who, among the following. is not associated with ecological approach to the study of
Public Administration?
2o seBed (38D Frem &0 ©EADTPIE  HBJB Homod iﬁaé&@ﬁﬁcl @5008)03508

DHB?
Options :

Robert Dahl

an::ug e
1. %

John Gaus
=0 PR

Fred Riggs
(@& Bhy

Luther Gullick

W oS0 KOE
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Fred Riggs substituted his "Agraria- Industria’ model with this model
(26 Bh) ‘Trgdarong-arB(EeenE’ Sarar ﬁgﬁoé‘s & Hdraeid (H8arbortd

Options :

Industria mode|

aﬂ'ﬂgéﬁomé B
1. %

Agraria- Transitia model
5 % TFHPoNE-HBH0S Hwrar

Transitia-Industria model
HBDBar—arb|Fans Swrar

3. %

Agraria-Transitia-Industria model
aTgRar0nE ~H058 8 ~arb(FEhE S
4. -

Question Number : 94 Question Id : 51714411967 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Droit administratif means
“ (romts o808 g
Options :

Administrative Law

v S8arere Sgao

Administrative practice

. % SBaree 358

Common Law

Sose e
3. %



Personal Law

s HEWWS e

Question Number : 95 Question Id : 51714411968 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Civil Services of USA are classified on the basis of
@00t VIS ﬁéﬂg"m@ Ef)%éiﬁsaé] [ErBDH6E

Options :

Positions
%@UHDED

Ranks
Uﬂéoéjﬁzo

Specialisations
@éégééaa@

All the above
?Ea’)&&oﬁm

Question Number : 96 Question Id : 51714411969 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Ombudsman system was first established in
02500 Be5:sd Sntser JoE DS ALt vy

Options :

USA
| % &S

India
20645P

2. %



UK

z0j0H
3. %

Sweden

Sy tiS
4.

Question Number : 97 Question Id : 51714411970 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Comparative Administration Group (CAG) was funded by the
SHoTEE arPed apotiam (Comparative Administration Group) % @gé Hatoho ®ohoddHd

Options :

Rock feller Foundation
oeE 206 FFPoBRS

Ford Foundation
585 FroBnS

2. ¢

U.S. Federal Government

; ©hbse PEES K)ok
3.

American Society of Public Administration
©HOES B ©f HPE ©HAHAS
4. %

Question Number : 98 Question Id : 51714411971 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who said that as long as the study of public administration was not comparative claims for
a science of Public Administration would sound hollow?
(Sgesy Jrer R ClalYeniale éa@aﬂéééo SPH0SHBH (HgDheso aPed @ns) %ﬂ@cﬁjéé) Ho@

oBoDH FEHE DN sofith ®d aﬁ}njeﬁﬁa’)r:ﬁ)?



Options :

Herbert Simon

Robert Dahl
Unaag s
2.

Fred Riggs
@& BR)

3. %

Chester Barnard
356 aonh
4. W (4] [ )

Question Number : 99 Question Id : 51714411972 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a trend enumerated by Riggs in the comparative study of
Public Administration?
B9gHesy arerd HoTEE @iﬁgdﬁ)éﬁofﬁﬁ Bhy _ﬁﬁ“@récl E8eed® 808 087
Options :
From nomothetic to ideographic
D50E DASPEHES Hol D8 DASPEESH Sty
1. ¢

From ideographic to nomethetic
. 08 DHSTTHES ol o0d HATFEESSH Hrthy)

2.

From normative to empirical

[DErerE)ES ol @glerd)3 et
3. % :

From non-ecological to ecological
) HBLEDSEE H08 58S Homorrds S ven)

Question Number : 100 Question Id : 51714411973 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Development administration is
S ared o0

Options :
Change oriented
o OPB)) SREDH

Goal oriented
OF; 61800

Result oriented
Pz &5yEHIH

All the above

2B
4.9 -

Question Number : 101 Question Id : 51714411974 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following, in the Indian context, is duly called the policy of Globalization?
806 7B grdsta8 5020809 [HHodESe dprdor B ﬁjﬁ“&@&:ﬂiﬁj‘?

Options :

The Industrial Policy Resolution, 1956
5B|E°EE Dped Bomsdin, 1956

1. %
The New Industrial Policy, 2001
Jeessd aed|EdnE Dpraisdn, 2001
2. %
The New Economic Policy, 1991
sl @08 Dpradsdn, 1991
3.¢ ¢

The New Education Policy
RSN DT SRR

4, %



Question Number : 102 Question Id : 51714411975 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The expenditure charged upon the Consolidated Fund of India is
getied HogndE DHE avg Dohadd e nta

Options :
submitted to the vote of Parliament

- PPotn Gn) edhoels D

submitted to the vote of Rajya Sabha
5 x Oe0d odrord8 Hi8)ed:

submitted for the sanction of the President
Oeg08 adreels S8Rt
3. %

not submitted to the vote of Parliament
Yoty edrordd Hibodh
4. <

Question Number : 103 Question Id : 51714411976 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is not true about the Goods and Services Tax?
B Do By (GST) HBod OB S3)?

Options :

It isa successor to the Value Added Tax

. 26 Denarerod Dy dns) 580
1.

It subsumes several taxes and levies

A5 g Hdnen, Bden ¥Oron
2. % = =

It exempts Alcohol for human consumption from its purview
Srsd DIGPTIS 6 gl (Alcohol) B 58§ Hod Sinoweth

3. %



Mone of the above
2D 50D
4. v

Question Number : 104 Question Id : 51714411977 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is true about the Fiscal Responsibility and Budget Management (FRBM) Act?
Clek essenmrOsdo HBatn 2gén DEYS Se0 Dichos® DB aid?

Options :
It aims to introduce transparency in India’'s fiscal management systems
gBEBE ©BE Ao BESHes® @b FEBEESD H3EenodH 6880008
1. %

It aims at bringing fiscal discipline, efficient debt management, and macroeconomic

stability

=6 ©ff (Bidgmin, Dshdosdd anes Ve shbdin dre @b HHo ndexi)
@ e ] I [ A o &

FBoHEE ﬁ@%oaoa

It aims at maintaining better coordination between fiscal and monetary policy
=1 @Qé a0Bain (8 Derare s06) HBRN HaDRR/AIPR)Y PHOHEHK &éﬁoﬂoﬁ

All the above

L 28 chr

Question Number : 105 Question Id : 51714411978 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not true about public enterprises in India?
208 Bt 54085 Bork SoPerd HBoD b $5)?

Options :

They are partially or fully owned by the government
@ %ﬁéoﬁnﬁﬁ' rBres Bghads TobdSD

1. %



2. %

There are different types of public enterprises such as departmental undertakings, public
corporations and government companies
FRaH e ESren, HPE seEN0HR, KSG)Hoen Zode Ho8 Hendrarod® @ dotron

There were no public enterprises in India prior to Independence

3 #ﬁﬁé@@g&% I B0 erSndos? (£34Dhésg Boi ﬁoﬁg@:} oty

The number of public enterprises is on the decrease
(38Desy Boi ‘KJO%@ Dogy SBheEr &N
4. %

Question Number : 106 Question Id : 51714411979 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The First Industrial Policy Resolution of India was issued in the year
rSSR50s? &8 FB|3ehE Dpud @U“éﬂ‘&?ﬁ)) S Honddo Do @onod

Options :

| & 1947

1948
2. ¥

1954
3. %

, 1956

Question Number : 107 Question Id : 51714411980 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not true about the NITI Aayog?
58 e@rh Sonobod Eod A& D8 S3)?

Options :



It was launched in 2015
| x TR 20158° JoBery

It was set up as per the provisions of the Constitution of India

S v o090 grid Tremgorio (HESme HBH WoEn Dardd

It replaced the Planning Commission
®b (Herdse Hoyoo 5526065 Do
3. %

It is a policy think tank of the Government of India
©b Boli [Hghsy Deed HoE érok (Think tank)

Question Number : 108 Question Id : 51714411981 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

India follows the policy of
e Tnl:(e BV Dy dgEHo

Options :

Progressive Taxation
ESlaterils adne Jgeno

Proportional Taxation

5 % JaBE Hdpe dgeHo

Regressive Taxation

- astednyg Sdye dgrdo

none of the above
L % 2BDShe 5o

Question Number : 109 Question Id : 51714411982 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not the function of the Finance Commission?
806 B S BDAS 9§ =00 06?

Options :

Distribution of proceeds of taxes between the Union and States

e SE( @mvdﬁjoﬁ&é{:}[gﬁ orlepe S5 HodEo Jafne

2. %

Determination of principles which should govern the grants-in-aid from the Centre to the
States

Solo H08 orlepet Eﬁ{ﬁt} 2HBCHE (rrotne (aPSHHE Achaire dedes

Consideration of new items of revenue to be allocated to States

Un@gméa BeronoSHenhd Srsd emrdd émogﬂ H8deH
3.¢

Any other matter especially referred to the Commission by the Government
EnHSH (Hghdo DDBoDD O B88 (HEE woFo wona

Question Number : 110 Question Id : 51714411983 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The law that ceases to be effective after a specific date is called
28 mgg ab SHhard 5 [ Serd) see Senarth.

Options :
Sun -light legislation
25R-8¢ Sexo

1. % -

Sun-set legislation

| SSRErogEhab S0

Transitional legislation
pobsres) Héo

Informal legislation
eP0SHES aﬁﬁgo

4. %



Question Number : 111 Question Id : 51714411984 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Whose contribution to industrial relations has been termed as ‘cow sociology'?
B(EihE Homogrei Homohod JH8 Britrard) T Dfhdired’ ©d 75:.‘]503553_63?

Options :

Chester Barnard
256 ot
[, o W]

Herbert Simon

) % TG IS

Elton Mayo
3 v DS DA

F W Taylor
Q. e &b

4. %

Question Number : 112 Question Id : 51714411985 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The statement that the "Company form of public enterprise is a fraud on the Indian
Constitution” relates to
“6058) S5 gHhekson :C'}o?f@:. grie Teergorraé JDH 0" © HEBoDHO

Options :

Paul Appleby
|, S 26 D

Chhagla Commission

, % TR 0o

Ashok Chanda
o558 Sowe
3.



Morarjee Desai
Sooed Bardd
4, ® :

Question Number : 113 Question Id : 51714411986 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Public Corporation is
B80Sy =ENOAS
Options :
Accountable to Finance Ministry only

2oR) DDQE Sl ars Hieiob
1. #

Accountable to Cabinet only
SAIH SrED args Hirnod

2. %
Mot accountable to Parliament
TPD0tnE g Haroh
3. %

Accountable to Parliament
Lo PP0otnd et Harinod

Question Number : 114 Question Id : 51714411987 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Who has said that “officials make work for each other” ?
“5555:*{3&1} a’}ééﬂéo 38 é&}\uozﬁ)é)oejﬂfﬁj” &8 &aé&ﬂéé}?

Options :
Peter Drucker
5He:6 555

Ramsay Muir
orH R Seb

2. %



Northcote Parkinson
e85 ar)S0S
3. ¢

Herman Finer
?’.:mtﬂéﬁ ';‘.géﬁ

Question Number : 115 Question Id : 51714411988 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

SC/ST seats are reserved in Panchayats on the basis of
SowrahBes® SC/STed E8od Bty S werdorne Dokt

Options :
Population
| @ BT
Area
 Hddo
2. %

Both population and area
asee S0BASH HBFo

3. %

None of the above
L% 2D 50H)

Question Number : 116 Question Id : 51714411989 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Grouping of activities and resources in an organization is a function of
a8 5555’3”%6’55 H0e SSHhed (TrHeom Soined aee SEDR

Options :
Leading
PChES0

1. #



Organizing

éé&éﬁ)éiﬁaao
2. ¢ @

Coordination
f}&’)}fﬁé{ﬁm

Monitoring
3’3655&53

Question Number : 117 Question Id : 51714411990 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a not a feature of good governance?
806 7B HHbares Gn¥) oo 5206 08 ?

Options :

Accountability

e2aentebSH0
1. %

Transparency
&:ﬂédﬁéﬁwéé

Rule of law
Erd o oo (Dioegah Jred)

Confidentiality

Lo eso&sBoREs

Question Number : 118 Question Id : 51714411991 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a principle of social welfare administration?
208 A HB Folu¥ :i’aogeﬁa aeed Dohsvo?

Options :



Individualism
VNS

Self-reliance
F’:ﬁgcfoo 56&@%}

Personal responsibility
a’aﬂagrﬁe:é wcﬁagé

3. %

Social justice
4 v PEPRE Tegdo

Question Number : 119 Question Id : 51714411992 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which government is responsible for social welfare administration in India?
eSS B¥oe? Frolnk Fﬁogafu TORE ik SieolB D Eigheso?

Options :

Union Government
ChrRoDa (BgheEco

1. #

State Government
v 540

Local Government
ég-é'ﬁé [ghesto

All of the above

v DERO

Question Number : 120 Question Id : 51714411993 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



VWhat is the primary source of funding for social welfare programs?
o ﬁc}éﬁo s EaireoH DHeH [Eeed Hreo b ?

Options :

Corporate donations
a5ard 20N DTeEeeD
1. # ]

Individual donations

) % éﬁ%ﬁé EA Lot LTy

3

4. %

Question Number : 121 Question Id : 51714411994 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

Government taxes
200 HD
v (2980h&g0 Diyen

Private foundations
(@3 FPoBAS) BY e Hogen

replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Match List —| with List —Il and select the correct answer from the codes given below

EEER BB SErgrard)) doE) wrder— I erder- [18° e:SH5S5m.

(a)

(b)

(c)

List =1

a7o8 Jago— |
Yehezkel Dror
286 (25

Amitai Etzioni
e ahaErcn :ﬂ%{ﬁjﬂ?&

David Truman
GOE (EsnS
Vincent Ostrom
DJoed e_a@o
Codes:

gﬁg&;

Options :
| x (@)= (V) (b)- (i)

5 o (@)= (i) (b)-(i) (c)- (i)

(1if)

(iv)

(d) - (iv)

List=1I

emélee— |

Mixed Scanning Approach

ED R0k SEyo

Normative Optimum Model

mﬂg@%E e300 Hsrae
Governmental Process /Group Theory
Bghek (HBah/ (e By

Public Choice Theory

oy Y
el romgoéo

(d) - (i)



Question Number : 122 Question Id : 51714411995 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Organizations that pursue the common interests of groups of people by attempting o
influence the making and implementation of government policy are known as
8o ﬁé&&& [S@rezreih sParthes (58Dhesg PR BrHBendi HOdn @shenid (Hgrado

S S5 PoD BEOE HenRsd
Options :

Political parties
oeezBad cﬂvém

1. %

Interest groups

) 508 DaumaFen

Lobbyists
e omdioen
3 % =

Policy communities
4 % SRR DdTErEen

Question Number : 123 Question Id : 51714411996 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The theory assumes that governments will be influenced by various interest groups and
will not be biased for or against any of those groups is called
(2gHeSesin DY 5§ HHPHFEOS (HrEsFHod 20 HBS® O 2. 808 whreonrsS? (Ha

EreomS? HEarSSn BOR S0kt @l PO Ejt:sgoé&’m 2%

Options :



Rational choice theory
'ﬁjﬂéaeag adons ?}mgoé‘éa"m

Institutional theory
EC}DQG hm;oéain

Pluralist theory
&g Em;oéa’m

Marxist theory
S8 wrrosEin
[5] G

4. %

Question Number : 124 Question Id : 51714411997 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

During which part of the public policy cycle does the government explore potential policy
responses?
B0 D@ SEostD o L& Hgheo dprared derod Mook STar el

(H8bso H68D5H06?
Options :

Agenda Setting Stage
B0ow° ?\)D;Eﬂsa L]

Policy Formulation Stage
e DB 84
2.

Policy Implementation Stage
Qe esuen 88

3. %

Decision-Making Stage
ABorEses 53

4. %



Question Number : 125 Question Id : 51714411998 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Administrative accountability is secured in government organizations by this branch of
government
(ghesy 6’355%@ areare Hoools aavanmﬂééaﬂﬂl& [HgHeSto o) S g FH506

Options :

Executive Branch
SoLEATRETE P

Legislative Branch
FHH ozes g

Judicial Branch

33@@53@&

All the these
RN
4. & S

Question Number : 126 Question Id : 51714411999 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Marxist analysis of public policies basically advocates
980y e &ma’z_&aeﬁﬁ 653‘“5@% é@éﬂ‘jﬂﬁo B2 Hrddod S velnY

Options :

Systems analysis
gD D35es
1% b

Class analysis
DO E‘Jéﬁm
2. °

Process analysis
BH8cdH DB

3. %



Cause and effect analysis
ses-sedes Ho@0E Fes

Question Number : 127 Question Id : 51714412000 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which theory assumes that citizens are self-interested actors whose decisions fulfil their
own needs and wants?
FHen 5 edoredh 5850 S5ES yed H@EreEd @b8Nten ©f O brrodsn

@
o

grnof?

Options :

Economic Theory of Democracy
esBEDBFD [Herraigpng DEPodiim
(A s = @

1. ®

Managerial Theory
Qo=eTs Loposéiin
2. % ° B

Rational Choice Theory

o dodh¥ horodsn
3.¢ © &

Pluralism Theory
BT0EE] bm;oéé}a
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Which one of the following was not identified by the Santhanam Committee as a major
cause of corruption in India?

80oB 786 Soordo EW8 BAD DB 2.8 Herd sBmore KHBoSBE?

Options :
Administrative delays
PO EPARED



Scope for personnel discretion in the exercise of powers

©H250 DO@rA0SE S 35818 DSBedd wisedo
2. 8

Cumbersome procedures

EPoB BNt H&en
3, % ©

Absence of regulatory functions of the government
[gha=Dd Bﬁ}géé&é Deven SEFSHE0
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Which one of the following leadership styles was identified by the Michigan University
Leadership Studies as the most effective leadership style

oS DDy oDo arahidion =60 H08%EKen 8od aBS° O arahis 30
HBHoBHBER Seyon?
Options :

Democratic style leadership
[Beraing archid 30

1. ®

Employee-centered leadership style
ﬁﬁf’gﬁ —Bo|58 orahies 30
2. ¢

Participative group leadership
griiargEoing eyots seabisy 30

3. %

Team leadership style

epots rahEsto(Group leadership) 39
4. %
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How many seats are to be reserved in the Lok Sabha for women as per the Constitution
128" Amendment Bill ?

SESPE® Hirgeh Q) paren Beby Joswég 1285 oremgolf $58em Hey
@’}3%3}%333&5&?

Options :

Twenty percent of total members

- Swéo %Kﬁ“@i a8 Feeo

One fourth of total members
swedo ﬁ;aﬂeﬁr’i Hurdoty a8 Hokh

Half of total members
ando %;m@i Ko

Mone of the above
2) o8& 08 =

| .

4.9
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Match List — | with List — [l and select the correct answer from the codes given below
$HBFE Eoi QoHE erder— |, erder— |l e a8Hhthin.

List - | List -1l
| edlae—
(a) Parliamentary Commissioner (1) France
Sotd EdnHss @0
(b)  Administrative Courts (i) Russia
e %E’tﬁc_}@:: Bars
(c) Ombudsman (iiiy  Britain
02500 EALeS]
(d) Procurator System (iv) USA
ErERDeE 550 E0Da)
[A]
Codes:
8°&y:

Options :



L ow (@=()  (b)-(il) (c)-(iii) (d)-(iv)
, w (@)-(v) (B)-(i) (c)- (i) (d)- (i)

(@) - (i) (B)-(i) (c)-(iv) (d)- (i)
3.¢

(@) - (ii) () -(iv) (c)-(iii) (d)-(i)

4. %
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Choose the sentence that best exemplifies the philosophy of the Cabinet form of
government.

segfiRe) S8:58 (Dghely éﬁé‘gé 808 F&Fﬁ@fﬁﬁ B arre H88kol?

Options :

1. ®

A plan for reducing criticism of the government, whose obligations are complicated and
difficult to carry out to every one’s satisfaction.

(2gDhesg argigsen ggorw, égorw G050 N ©oikbl éﬁﬁiﬂiﬁ(éo é%ﬂa 50838 (DgDhaEeely
BN DHBRH BRoHOB 2.8 Fegdore $50B0k

2, %

A mechanism for accelerating the government’s activity, whose daily duties are growing
(298080 aing) BHohd DEhe Brhed) f}écﬁgoéﬁ (22D&to d@ns) HI SEHED 5o

A parliamentary democracy process ensures the government’s collective duty to the
people
800 (e By 6 S rEDH A5Bohe FBR00e8 Sezeaeeaig (EBSD

FeinEroonr Gotnod

3. ¢
A mechanism for reinforcing the hands of the government's leader, whose grip on the
people is eroding
e (@HgHehd Teahii) éé,:um DtSendit) 35’}&5065 eSi)) d8Doshy 3o B0

4, %
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Which one of the following is not a characteristic of the Indian government?
8of AP st [BHaheito ang) oFpo 5206 WB?

Options :

Constitutional government
oeee5 0l mté [3ghesko

1. %

Democratic Administration
(Beeargins (HEheso

Based on Rule of Law
DEeh arel sprsndsd (HihEo

Authoritarian Government

. DB0EE (Hgheo
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A public servant may face disciplinary action on the following bases
©50E%AD Sob B O [FFBHRES Edge I8 SHEHH?

(i) inattention to duty (ii) inefficiency

QG0e HDE @@’%ﬁ @‘rﬁésgé
(iii)  insubordination (iv) il health

e RoHS @mvﬁf’ﬁ?so
Codes:
Options :
Lo D (i), (iit)

(i), (iii), (iv)

2. %

(1), (iif), (iv)



(1), (i), (iii), (iv)

4. %
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Which words were not there in the Preamble to the Constitution of India that was adopted
on November 26, 19497
265 SDoakh, 1949 Trth 6drHodd grdd oeergon 58560 esrth B Hoeen HD?

1. Socialist 2. Secular 3 Sovereign 4. Republic
eIV ale! 88 o ROy dErEs aDEaSS0|E85n
Follow the code to find the right answer.
Options :

| % 1,2and 3
, % 2,3and4

1,2and 4

3. %

4_\_/1and2
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Which one of the following is not a feature of good governance?
808 B HHBarod ofmo B O6?

Options :
Accountability

| % saranmrbsdo

Transparency
é‘wtﬂtﬁéﬂﬁéé



Rule of Law

% 00D aeN

Rigid Procedures

4 )i (rigid) seEgdgraren
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Which form of government structure does India’s Constitution provide for?
B TrazgonEn o) BEDS (55D ;’}g&‘{} 2)T)e0 320867

Options :

Unitary

| % DESo5% 5352

Federal
STV é@éf@:

Parliamentary
FBB08d Db
3. =

Presidential
Slnly=] E()é&’)?’@:r
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If the President wants to resign, he/she shall address his/her letter of resignation to the
oogHB &5 H5D8 ordeiie BaireiHtos 885 ordorsr HlEed) 588 $5d)owd?

Options :

Chief Justice of India
| :’m@oger:jam A 29



Prime Minister of India
DTS oS8
2.

Vice-President of India

T o e

Speaker of LokSabha
&PE%eS E}Jétﬁné}
4. %
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Which of the following is not an All India Service?
8od 78° oo gr8E Hbch =206 6?7
Options :

Indian Foreign Service

| B0BADS FBS Sy

Indian Administrative Service
0 o N9

Indian Forest Service
z08008 @vﬂ% ﬁég;:n

Indian Police Service

B 5 dOR
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Assertion (A): Methods of legislative control over administration in a parliamentary system

are different from those in a presidential one.

DRSS (A): FGHotd HHJER sresp T8 Tp T doholdens HEEen iy
5’355’3%&5’5?0 fdho|Hee Eﬁgéﬂ)@é) Byore &oérow.

Reason (R): In the presidential system of the United States, powers of administration are

vested in the President.

Y (R): ©Hbs6D Clale= é%@ 5’35&’%@5 roTrsto oitHidd sskadod.

Codes:

&%&):

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A)bain (R)Botr 2. daim (R) @38 (A) 20N D&Bes

1. %

Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(A)nBcdin (R)Botsr a.s)) 520 (R) @230 (AR HBFD DD o
2.¥

(A) is true, but (R) is false
(Ao 570 (R) 85

3. %

(A) is false, but (R) is true
(A) S5 520 (R) 2.a3)

4, %
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The research that focuses on a process of sequential reflection and action, carried out with
and by local people rather than on them is called
ﬁgi}é Hezo&® HHdat mlgﬁjé Sieze D8 Sr(Ead =0 ﬁ@“ﬁlé e BoldbosHom Hhdme

e5%5% Hbain Ss(actionle Binos® T HHEES D
Options :
Participatory research

L gPHiaeEig i 5088555



Conventional research
SolRTeddD ;’Jaﬁﬁcﬁé

Experimental research
[DaerreEs 568558

Exploratory research
&ﬁéﬁe&viﬁéé 588855
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The major attribute of Correlation Analysis is

wf

D Hoold Sjﬁﬁca g ©FER0
Options :

Association among variables

JSoroare(variables) g DS
- loleulol| ) 0D DaeSB50

Difference among variables
- Sorodo 0GR sxEsdo

Regression among variables
Sorore g BB KSSo(regression)

VVariations among variables

L w Sorode G50 SDEKo
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The conceptual framework in which the research is carried out is called
5688555 AEErodEERE Sreghs graards S(érd)(conceptual framework) mer SIENTLD.

Options :



Synopsis of Research
588080 2083

Research Paradigm
588G PBES

Research Design

5685800 (e D
3.¢

Research hypothesis
5880¢sae DBED
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Which one of the following is the first requirement for pursuing research?
56858 Do (Bod BSE® &0 sdEES O6?

Options :

Developing a research design
5885 (5D Bl Bend

Deciding about the data analysis procedure
, % Bezod AR DG5S Doedes

Formulating a research question

- 58808 283028 K}c};ém

Formulating a research hypothesis
5880 ae 2208enid @O;r:ﬁsa

4. =%
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Which one among the following statements is not true about participatory research?
gl eqingao 5880558 HowoBod Bob BE O Sa?

Options :

It recognizes knowledge as power

238 epdch $80H0 edi0d
1. % )

It is a collective process of inquiry

=50 50 S5 (BB

2. %

It emphasizes people as experts
B0 (e Dadeavenre grainod

Its sole purpose is the production of knowledge

A 2828 ﬁéégo 35055&’5@
4 [l B =

Question Number : 146 Question Id : 51714412019 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the correct order in which the following research activities take place in scientific

research? Answer by choosing the correct code:
@{f@cﬁa 5888 Eood® Bod S8gen 0 SHH (Edos® ethiharon? Slalenviy Sy

o)0DE a0,

(i) Formulation of hypothesis
Eﬁﬁgﬂgjc"ﬁ ti:uvﬁzéq}fé

(iiiy ~ Generalization
S BESes B8 Lo BESes
Codes:
&5&):
Options :
| % a- (i), b-(ii), c- (i), d-(iv)

2.« a-(ii), b-(i), c-(iv), d-(iii)

% @ (W), b- (D). c (i), d-(i)

(i)

(iv)

Problem selection
?éa’)}ﬁé aoas

Collection and analysis of data
Sepod Ssnardd, D@5



4w @ (i), b-(v), c-(i). d-(ii)
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Which technique is generally followed when the population is finite?
HBS exrgr NG SErod DEBBYH Frerdmorr & HEBD SHABrATE?

Options :

Systematic Sampling Technique

Boadd Sdmoe HESe HSS
1. ¢ Q= ]

Purposive Sampling Technigue
- ﬁéﬁg JBeE Hurae ;ﬁﬁg@

Area Sampling Technique
ErO8E Shrae HEB

None of the above

L % 2D 55
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How is random sampling helpful?
APE)INE S er SIAFHDDE0H?

Options :

It is reasonably accurate
=28 Herdorr Hosbdm

It is an economical method of data collection
23b S=rod 2HESs %otﬁa‘;gzﬁ :ﬁcga



It is free from personal biases
&ed eﬁﬁrﬁé ééﬁv@nﬁlg ity TelataY

All of the above

25
4.9
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Longitudinal approach to research deals with
DBI FAH H588°5% (longitudinal approach) B8 HowoBoDHEH

Options :

Long-term research

B850 HB855%
1. %

Lengthy research
f:.:}é}g] 568555

Horizontal research
&'J(é;ﬁﬁ éﬁéﬁeﬁé

All the above
_?'Ljéﬁj&dﬁl}
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Authenticity of a research lies in its
H08%5E s FHHES HID BErdHé Sotnob.
Options :
Objectives

| % @-_,S_LG-EED



Objectivity
-~ dﬁjacﬁejaljéé;‘a’n@;’}iﬁé

Originality
Eﬁgé

All of the above

L% DO



